


equal groups of

flowers.

? Complete.
S8

There are bears in each row.

.. There are Tows.

PTEe are

n Lir ]
 or TisPn |

88 .-
.. There are bears altogether.

W

Draw the next three shapes in the pattern.

"AOoAOo.

What shape would be 12t?

lf\'lf\’,
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[ Son Tietn
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Calculate.

0-

D = / ones + 7 ones

_
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Make Equal Groups
— Grouping




Monday Ilth Januwary 202I 1n/i/21 WALT - To make equal group through grouping

Malachi uses a number line to work out how many
equal groups of 2 he can make from 12.

(ﬁ/\(\/\/\/’\
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Q 10 11 12

0 1

Use a number line to work out how many
equal groups of 5 you can make from 30.
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Rosie uses a number line to work out how many
equal groups of 3 she can make from 18.

railn" mf\
T A N A O O A I e
HEEEEEREEREREREEE R
01 2 3 45 6 7 8 910 111213141516 17 18

Use a number line to work out how many
equal groups of 6 you can make from 30.

4 5 6 7 8 91011 1213 1415 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
I I | [ 11111
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How many counters could she have started with?
How many will be in each group?
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Silver

|

Use grouping to solve the division problems. Show all of your colaulations.

Bronze
Crprs TV
Gy Grope- oo T 2]
B i Sweets come In packs of 20.
‘Swests come In packs of 20. Pencils come in packs of 24. You need to put 5 in each jar.
You need to put 5 in each jar. You need to put 2 n each pot.
How many Jars will you need?

How many jars wil you need?
Group the sweets to find the answer.

B0 0090 2020 5 ab b 5 5
bk ah % AR AR A0 ok bk 0 B

How many pots will you need?

Group the penctls to flnd the answer.

NI

=

Tia has 40 colns.
She puts 10 colns tn each pouch.
How many pouches can she 7

10 ;u 0 1
U-0-0g

[ =0 st

T

Use a rumber lne to work cut how many equal
!mgdiylum:.ﬁllm"g.

(.

There are __ sweets altogether.
There are ___ sweets In each jar

f22

at?

There are __ Jars.

Penlls come in packs of 24.
You need to put 2 in each pot. ||

How many pots will you need?

1]

There are __ penclls altogether.
There are__ pencls In each pot.
There are _ pots.

WALT - To .make equal group through grouping

Gold

ke by G Coongrg JTYCIT

Fhasscy & Pra

Cut out the questions.
Show all of the steps of your working out

Leanna has 15 toys.

‘She puts 3 toys in each box.
How many baxes can she fll?

seeey

this represens.

Write the multiplication and division sentence

Tia has 40 colns.

Sweets come in packs of 20.
T have 4 packs. I need to put 10 sweets n a jar

How many Jars will I need?

S

Pencils come in packs of 24.
Ihave 3 packs and need to put 2 In

How many pots will I need?

She puts 10 colns in each pouch.
How many pouches can she fll?

Write the multiplication and division sentence
this represents.

Leanna has 15 cars, 12 teddies and 5 DVDs.

She puts them in & baxes.
Can there be an equal amount of toys In each?

= Explain your answer.

Tia has 63 gold coins, 25 bronze coin
siiver colns. She takes half of the total
and wants to put 10 cotns in a pc

7% How many pouches wil she nee

A

axrreenn e

Use & rumber ln o work out how rmany equal
spoupe of 2 yn an maka fom 20, I:l

Ll |
01 2 3 &5 b6 7 8
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WALT - To .make equal group through grouping

N\

Zach has some counters.
He makes 5 equal groups.

The amount he started with
Is greater than 10 but less than 25.

How many counters could he
have started with?
How many will be in each group?

o
n

¢

\ J

Reconurg & Frotlem Scherg 2|

"-F-lw Remoning & Froblem Sehvang 2|

"

Zach has some counters
He makes & equal groups

The amount he started with
Is greater than 10 but less than 40

How many counters could he

have started with?
How many will be in each group?

b

G STVOIT

Zach has some counters.
He makes 7 equal groups

The amount he started with
Is greater than 22 but less than 51

How many counters could he

have started with?
How many will be in each group?

i
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